PART - II (To be filled by the concerned Deputy Conservator of Forest)

7. Location of the Project/ Scheme Link

Link Road (MH 1050) Improvement/upgradation and maintenance of ODR-51 ,Dhanora to Pendhari from Km 0+000

to Km 36+650 in Dhanora Tahsil of Distt.

(i) State / Union Territory

Maharashtra.

(ii) District

Gadchiroli

(iii) Forest Division

Gadchiroli Forest Division, Gadchiroli.

(iv) Area of forest land proposed for

18.412 Ha.

Road (in ha.)

Sr	Name of Village	Taluka/Range						
N 0.			Comptt . No.	Length in meter	Width in Meter	equired AREA IN		Legal Status
						Sq. M.	Ha.	Degai Status
1	Dhanora	Dhanora/S.Dhanora	520	2000	7.50	15000	1.500	Protected Forest
2	Pouni	Dhanora/S.Dhanora	544	1250	7.50	9375	0.938	Protected Forest
3	Chawela	Dhanora/S.Dhanora	503	250	7.50	1875	0.188	Reserve Forest
5			494	1350	7.50	10125	1.013	Reserve Forest
6	Block Forest	Dhanora/S.Dhanora	493	927	7.50	6952.50	0.695	Reserve Forest
7			486	1824	7.50	13680	1.368	Reserve Forest
8			484	865	7.50	6487.50	0.649	Reserve Forest
9			485	1434	7.50	10755	1.076	Reserve Forest
10	Mungner	Dhanora/S.Dhanora	478	1250	7.50	9375	0.938	Reserve Forest
11			479	1100	7.50	8250	0.825	Reserve Forest
12	Hatanjur	Dhanora/S.Dhanora	477	350	7.50	2625	0.263	Reserve Forest
13	Bodin	Dhanora/Pendhari	318	2850	7.50	21375	2.138	Reserve Forest
14	Chimrikal	Dhanora/Pendhari	301	2300	7.50	17250	1.725	Reserve Forest
15			300	850	7.50	6375	0.638	Reserve Forest
16	Kamngad	Dhanora/Pendhari	299	750	7.50	5625	0.563	Reserve Forest
7			298	1400	7.50	10500	1.050	Reserve Forest
8			291	300	7.50	2250	0.225	Reserve Forest
9			290	500	7.50	3750	0.375	Reserve Forest
0	Sawanga Bu.	Dhanora/Pendhari	287	922	7.50	6915	0.692	Reserve Forest
1			288	578	7.50	4335	0.434	Reserve Forest

	Total:-				200	184125	18.412	
24	Pendhari	Dhanora/Pendhari	267	150	7.50	1125	0.112	Reserve Forest
23	Mohagaon	Dhanora/Pendhari	270	250	7.50	1875	0.188	Reserve Forest
22	Pekingmurza	Dhanora/Pendhari	286	1100	7.50	8250	0.825	Reserve Forest

	the second	12=2000 BH		
(v)	Legal	Statue	of	Forest
()	LUBUI	Dialus	OI	I OICST

Reserve Forest & Protected Forest

(vi) Density of Vegetation Area's density is more than 0.4

(vii) Species-wise (scientific names) diameter class-wise enumeration of trees (to be enclosed, in case of irrigation / hydel projects enumeration at FRI, FRI-2 meter & FRI-1 meter also to be enclosed

In above mentioned forest location, Total 1012 trees of various diameters are affected. Details of trees (Species wise & diameter wise) are enclosed from page no. ----

(viii) Brief note on vulnerability / of the Forest area to erosion

No Erosion.

(ix) Approximate distance of proposed site for diversion from boundary of forest

Proposed Road widening is adjacent to Forest Boundary.

Whether forms part of national Park, (x) reserve, elephant, corridor etc (If so the Chief Wildlife Warden to be annexed)

The road passing through Comptt. wildlife Sanctuary biosphere reserve, tiger No.520,544,503,494,493,486,484,485,478,479,477,318,301,3 00,299,298,291,290,288,287,286;270,267 village details of the area and comments of the Dhanora, Pouni, Chawela, Mungner, Hatanjur, Bodin, Chimrikal, Kamhgardh, Sawanga Bu., Pekigmurza, Mohagaon, Pendhari It is part of Tiger Corridor as per TCP and TATR. (Map enclosed from page no. ----

(xi) species of flora and fauna founding the area found in the area of so details thereof

Whether any rare / endangered / unique No rare / endangered / unique species of fauna and flora

(xii) Whether any protected archaeological / heritage site / defiance establishment or any other important monument is located in located in the area, which is to be diverted the area If so, the details thereof with NOC from competent authority, if required

There is no protected archaeological / heritage site/ defiance establishment or any other important monument

8. Whether the requirement of forest land as Yes, required land is unavoidable and barest minimum proposed by the user agency in col2 of Part-I is unavoidable and basic minimum for the project If no, recommended area item-wise with details of alternatives examined

9. Whether any work in violation of Act has No been carried out (Yes/No) If Yes, details of the same including period of work done,

action taken on carrying officials Whether work in violation is still in progress Details of compensatory afforestation scheme: (i) Details of non forest area / degraded No degraded C.A. land available in this Division forest area identified for compensatory afforestation, its distance from adjoining forest, number of patches, size of each patch (ii) Map Showing non-forest/ degraded forest area identified for compensatory afforestation and adjoining forest boundaries Detailed compensatory afforestation (iii) scheme including species to be planned, implementing agency Tune schedule, cost structure etc (iv) Total Financial outlay for compensatory afforestation scheme (v) Certificates from competent authority regarding suitability of area identified for compensatory afforestation and from management of point of view (To be signed by the concerned Deputy Conservator of Site inspection report of the DCF (to be Attached on Page No. ----enclosed) especially high ting facts asked in col 7 (xi, xii) 8 & 9 above Division / District Profile District - Gadchiroli Division - Forest Division, Gadchiroli i) Geographical area of the district Geographical area of the Gadchiroli District is 14412 Sq.Km. ii) Forest area of the Division 2212.74 Sq.Km. Gadchiroli iii) Total forest area diverted since 12 Cases, and area diverted 86.2131 Ha. (Detail list attach on 1980 with number of cases page No. ----) Total Compensatory afforestation stipulated in the district division since 1980 a) forest land including penal Compensatory a. 0 afforestation b) Non Forest Land b. 0.

10.

11.

12.

- v) Progress of Compensatory afforestation as on-
- (a) Forest Land
- (b) Non- Forest Land

- a. 184.92 Ha. (Detail list attach on page No.---)
- b. 0

13. Specific recommendations of the deputy conservator of forest for acceptance or otherwise of the proposal with reasons

The project under reference undertaken by Government of Maharashtra (MH 1050) ODR-51 link Road is part of public infrastructure facility and it connected the one of the remote village in the LWE affected District Hence, the proposal is being recommended.

(Dr. Kumarswamy S.R.)

Deputy Conservator of Forests,
Gadchiroli Forest Division,
Gadchiroli

Date: - 14.12.2020 Place: - Gadchiroli